
TV/MONITOR
TRIPLE EXTENSION

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



2MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

4x

4x

4x

PARTS [dimensions in mm / different scales]
No extra or spare parts listed!

 40 

 4
0 

8x

 4
0 

 40 

 40 
 40

 

4x

2x

600

40

40

450

40

40
188

40

40

 8 

 10 

4 per joint



3MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

20x20x

20x

 30 

 Ø
8 

M8

BAG 1

BAG 2

BAG 3

8x
M8

8x

 8,4 
 16 

8x

 
8 

 14 

4x
M8

4x

 30 
 Ø

8 

 
8 

 16 

4x



4MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

188 m
m

450 mm

ASSEMBLY

very loosely
pre-assembled

universal
connector

M8x30

Every step has to be done for the
left and for the right side.

4x
pre-assembled

universal
connector

2x
slot nut

M8



5MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

cap

cap

4x
slot nut

M8



6MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

4x
universal
connector

4x
M8x30

choose height
position as

you like

4x
pre-assembled

universal
connector



7MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

18
8 

m
m

600 mm

2x
pre-assembled

universal
connector

thread

thread

cap

cap
4x

slot nut
M8



8MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

insert the
rotation blockers

into the joints

joints
2x

M8x30



9MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

2x
M8x16

detail

2x
M8x16

move to optimal 
position for your 

tv setup



10MTSIM MTS TV/MONITOR TRIPLE EXTENSION INSTRUCTION MANUAL

4x
washer

Ø16

4x
M8x14



25-01-2024

Assembly to
MTS cockpit
has to be done
the same way.


